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Assuming the graphs below are complete graphs, which of the graphs
could be the graphs of a polynomial?
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For each of the polynomials f, g, i, and £, find the corresponding graph
from (a)-(f) below.
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For each of the polynomials f, g, i, and k, find the corresponding graph
from (a)-(f) below.
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h(z) = —(z — 1) (2 + 2) k(z) = (x—1) - (z + 2)?
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For each of the polynomials f, g, i, and k, find the corresponding graph
from (a)-(f) below.
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Sketch a complete the graph of the function. Label all intercepts of the
graph.
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Find all roots and factor the polynomial completely.
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Graph the following polynomials without using the calculator.
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